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PINDALAD 1.+2. KORRUS

TSOON NR RUUM PINDALA

1 01-1 _ BOKS 1 233,7

1 01-2  KONTOR 30,7

1 01-3  NOUPIDAMINE 10,8

1 01-4  RIETUS 6.3

1 01-5  PESU 1,1

1 01-6  WC 1,5

1 01-7  KONTOR 49,3

1 01-8  WC 1,9

1 01-9  TREPP 8,0
343,33 m?

2 02-1  BOKS?2 227,6

2 02-2  KONTOR 30,7

2 02-3  NOUPIDAMINE 10,8

2 02-4  RIIETUS 6.3

2 02-5  PESU 1,1

2 02-6  WC 1,5

2 02-7  KONTOR 49,3

2 02-8  WC 1,9

2 02-9  TREPP 8,0
3372 m?

3 03-1  BOKS3 229,8

3 03-2  KONTOR 30,7

3 03-3  NOUPIDAMINE 10,8

3 03-4 _ RIETUS 6.3

3 03-5 PESU 1,1

3 03-6  WC 1,5

3 03-7  KONTOR 49,3

3 03-8  WC 1,9

3 03-9  TREPP 8,0
3394 m?

4 04-1  BOKS 4 232,0

4 04-2  KONTOR 30,7

4 04-3  NOUPIDAMINE 10,8

4 04-4  RIETUS 6.3

4 04-5 PESU 1,1

4 04-6  WC 1,5

4 04-7  KONTOR 49,3

4 04-8  WC 1,9

4 04-9  TREPP 8,0
341,6 m?

5 05-1  BOKS5 2279

5 05-2  KONTOR 30,7

5 05-3  NOUPIDAMINE 10,4

5 05-4  RIIETUS 6,3

5 05-5 PESU 1,1

5 05-6  WC 1,5

5 05-7  KONTOR 49,3

5 05-8  WC 1,9

5 05-9  TREPP 10,1
339,2 m?

6 06-1  BOKS 6 996,0

6 06-7  KONTOR 49,1

6 06-8 WC 1,9

6 06-9  TREPP 8,3
1.055,3 m?

7 36 TEHNO 9,0
9,0 m?

8 37 TEHNO 9,0
9,0 m?
2 774,0 m?




